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see a better drawing on next page



The Faraday experiment
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• Faradays Law of induction
∮

∂#2
dEr · EE(t, Er) = −

d

dt

∫
#2

dES · EB(t, Er) (1)

• When closing the switch, in circuit #1 atime-dependent current starts to run

• this induces atime-dependent magnetic fieldEB1, reaching through the loop in circuit #2

• there it induces an EMF, resulting in a current which inducesa magnetic fieldEB2 counteract-
ing the built-up ofEB1 in the loop of circuit #2.




























































